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$EVWUDN�

� 0DNDODK� LQL� DNDQ� PHPEDKDV� WHQWDQJ� SHQHUDSDQ� EODFN� ER[� SDGD� NHUHWD� DSL� \DQJ�

GLDGRSVL�SHUWDPD�NDOL�SDGD�SHVDZDW��GHQJDQ�SDUDPHWHU�SHUHNDP�VXDUD�KLQJJD�ZDNWX�VLPSDQ�

NXUDQJ�GDUL���KDUL��� MDP�SDGD�PHGLD�SHQ\LPSDQDQ�6'�&DUG��7XMXDQ�GDUL�SHQJXMLDQ�SDGD�

PDNDODK� LQL� DGDODK� PHPEDQGLQJNDQ� VXPEHU� VXDUD� WHUKDGDS� MDUDN� SHQHULPD�� VHEDJDL�

SDUDPHWHU�SHUXEDKDQ�WLQJNDW�VXDUD�³G%´��6LVWHP�SHUHNDPDQ�VXDUD�\DQJ�DNDQ�GLWHPSDWNDQ�

SDGD� NHUHWD� DSL� LQL� PHQJJXQDNDQ� PRGXO� UDQJNDLDQ� WHULQWUHJDVL� :75����� 9RLFH� UHFRUG�

:75����PHUXSDNDQ� PRGXO� UDQJNDLDQ� WHULQWHJUDVL� XQWXN�PHUHNDP� VXDUD� VHQGLUL� DWDX� SXQ�

VXDUD�GDUL�ILOH�PXVLF���YLGHR�SDGD�NRPSXWHU�GHQJDQ�VDQJDW�PXGDK��0RGXO�LQL�ELVD�PHUHNDP�

VXDUD�VHQGLUL�GDQ�ODQJVXQJ�GL�VLPSDQ�NH�GDODP�IRUPDW�DXGLR��)RUPDW�DXGLR�\DQJ�GLVHGLDNDQ�

ROHK�PRGXO�YRLFH�UHFRUG�DGDODK�IRUPDW�$'��GDQ�ZDY���

+DVLO�SHQJXMLDQ�PRGXO�EODFN�ER[�\DQJ�GLOHWDNNDQ�SDGD�NHUHWD�DSL��GHQJDQ�PHQFRED�

PHQJXFDSNDQ� NDWD� � ³6$<$´�� � VXDUD� GDSDW� WHUHNDP� SDGD� PRGXO� SHUHNDP� VXDUD� \DQJ�

VHODQMXWQ\D�GLRODK�PHQJJXQDNDQ�´VRIWZDUH�VRXQG�HGLWRU´�\DQJ�GLVLPSDQ�SDGD�6'�&DUG�EHU�

HNVWHQVL� ³ZDY´�� 3HUEDQGLQJDQ� VXPEHU� VXDUD� WHUKDGDS� MDUDN� SHQHULPD� GDUL� SHQJXMLDQ�

GLGDSDWNDQ�VHEXDK�SHUVDPDDQ�UHJUHVL�OLQLHU��\� ������[�±������GDQ�5ð� ���������3HQJXMLDQ�LQL�

PHQJKDVLONDQ�SHQHNDQDQ�VXDUD�G%�GDQ�IUHNXHQVL�VDPSOH�+]�\DQJ�EHUEHGD���

�

.DWD�NXQFL��EODFN�ER[�NHUHWD�DSL��SHUHNDPDQ�VXDUD��:75����

�

�� 3(1'$+8/8$1�

3HUPDVDODKDQ�SHUNHUHWDDSLDQ�,QGRQHVLD�VDDW�LQL�PHPDQJ�GLDNXL�VDQJDW�UXPLW��VXOLW��

GLQDPLV� GHQJDQ� WDQWDQJDQ� \DQJ� WHUXV� EHUNHPEDQJ�� 6HMDN� GXOX� KLQJJD� NLQL� NHUHWD� DSL�

VHODOX� EHUKDGDSDQ� GHQJDQ� WDQWDQJDQ� NRPSHWLVL� \DQJ� WLQJJL� GDUL� PRGD� ODLQ�� -LND� GXOX�

EHUKDGDSDQ� GHQJDQ� SHUNHPEDQJDQ� RWRPRWLI�� PDND� NLQL� WDQWDQJDQ� GDWDQJ� GDUL�

SHUDQJNXWDQ� XGDUD� GHQJDQ� WDULI� \DQJ� VDQJDW� NRPSHWLWLI�� 1DPXQ� \DQJ� VDDW� LQL�

PHQJJDQJJX� SHUNHUHWDDSLDQ� ,QGRQHVLD� DGDODK� WLQJJLQ\D� WLQJNDW� NHFHODNDDQ�� 3HQ\HEDE�

WLQJJLQ\D� NHFHODNDDQ� NHUHWD� DSL�PHUXSDNDQ� DNXPXODVL� GDUL� EDQ\DN� IDNWRU�� GLDQWDUDQ\D�

PDVDODK�UHJXODVL��PDQDMHPHQ��NRQGLVL�SUDVDUDQD�GDQ�VDUDQD��6'0��GDQ�ODLQ�ODLQ��

6DDW� LQL� VLVWHP� SHPDQWDXDQ� ODOX� OLQWDV� NHUHWD� DSL� \DQJ� GLODNXNDQ� ROHK� 37�� .$,�

PDVLK�EHUVLIDW�VHGHUKDQD�GDQ�VHPL�RWRPDWLV��2OHK�NDUHQD�LWX�GLEXWXKNDQ�DODW�\DQJ�GDSDW�

PHUHNDP� ODOX� OLQWDV� NHUHWD� DSL� VHUWD�PHPRQLWRULQJ� OHWDN� DWDX� SRVLVL� NHUHWD� DSL� WHUWHQWX�

VHFDUD� UHDOWLPH�� VHKLQJJD� PHPEDQWX� PHPLQLPDONDQ� WHUMDGLQ\D� NHFHODNDDQ� NHUHWD� DSL�

\DQJ� GLVHEDENDQ� VHFDUD� WHNQLV�PDXSXQ� NHVDODKDQ�PDQXVLD�� 6HODLQ� LWX� MXJD� GLEXWXKNDQ�

DODW�SHUHNDP�VXDUD�\DQJ�GDSDW�PHPEHULNDQ�LQIRUPDVL�NRQGLVL�NHDGDDQ�WHUDNKLU�VHEHOXP�

WHUMDGLQ\D� NHFHODNDDQ��6HKLQJJD� LQIRUPDVL�PHQJHQDL� SHQ\HEDE�NHFHODNDDQ� VHFDUD� SDVWL�
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GDSDW� GLNHWDKXL� GHQJDQ� DGDQ\D� DODW� SHPDQWDX� SRVLVL� NHUHWD� DSL� \DQJ� GLOHQJNDSL� DODW�

SHUHNDP�VXDUD��

%XQ\L� DWDX� VXDUD� DGDODK�SHPDPSDWDQ�PHNDQLV� DWDX�JHORPEDQJ� ORQJLWXGLQDO� \DQJ�

PHUDPEDW�PHODOXL�PHGLXP��0HGLXP�DWDX�]DW�SHUDQWDUD� LQL�GDSDW�EHUXSD�]DW�FDLU��SDGDW�

GDQ�JDV��.HEDQ\DNDQ�VXDUD�DGDODK�JDEXQJDQ�EHUEDJDL�VLQ\DO�JHWDU�WHUGLUL�GDUL�JHORPEDQJ�

KDUPRQLV�� WHWDSL� VXDUD� PXUQL� VHFDUD� WHRULWLV� GDSDW� GLMHODVNDQ� GHQJDQ� NHFHSDWDQ� JHWDU�

RVLODVL�DWDX�IUHNXHQVL�\DQJ�GLXNXU�GDODP�VDWXDQ�JHWDUDQ�+HUW]� �+]��GDQ�DPSOLWXGR�DWDX�

NHQ\DULQJDQ� EXQ\L� GHQJDQ� SHQJXNXUDQ� GDODP� VDWXDQ� WHNDQDQ� VXDUD� GHVLEHO� �G%��

�*ROG�%��DQG1�0RUJDQ���������

:75����DGDODK�PRGXO�HOHNWURQLN�\DQJ�WHULQWUHJDVL�XQWXN�SHQ\LPSDQDQ�VXDUD�SDGD�

PHGLD�6'�&DUG��0RGXO�LQL�ELVD�PHUHNDP�VXDUD�VHQGLUL�GDQ�ODQJVXQJ�GL�VLPSDQ�NHGDODP�

IRUPDW�DXGLR��)RUPDW�DXGLR�\DQJ�GLVHGLDNDQ�ROHK�PRGXO�YRLFH�UHFRUG�DGDODK�IRUPDW�$'��

GDQ�ZDY��

8QWXN�PHUHNDP�VXDUD�\DQJ�WHUGDSDW�SDGD�NHUHWD�DSL��PDND�GLSDVDQJ�VHEXDK�EODFN�

ER[WHUPDVXN� VDODK� VDWXQ\D� PRGXO� YRLFH� UHFRUG�� 0RGXO� YRLFH� UHFRUG� �:75�����

GLOHWDNNDQ� SDGD� NHUHWDDSL�� WHSDWQ\D� SDGD� UXDQJ�PDVLQLV� XQWXN� PHQJHWDKXL� SHUFDNDSDQ�

GLUXDQJDQ�WHUVHEXW��

7XMXDQ�SHQJXMLDQ�SHQHOLWLDQ�LQL�DGDODK�XQWXN�PHQGDSDWNDQ�SHUVDPDDQ�UHJUHVL�OLQLHU�

SHUEDQGLQJDQ�QLODL�WHNDQDQ�VXDUD��G%���DQWDUD�SHQHULPD��PRGXO�:75�����WHUKDGDS�MDUDN�

VXPEHU��VRXUFH�YRLFH��GL�GDODP�NHUHWD�DSL��GHQJDQ�PHWRGH�DQDOVLV�SDGD�³VRIWZDUHVRXQG�

HGLWRU´���

�

�� .$-,$1�7(25,�

%HEHUDSD� SHQHOLWLDQ� WHUGDKXOX� \DQJ� WHUNDLW� GHQJDQ� SHQJRODKDQ� VXDUD� DWDX� EXQ\L�

GLDQWDUDQ\D���

D� 3HQJHQDODQ�SROD�NDWD�GHQJDQ�PHWRGH�DQILV��DGDSWLYH�QHXUR�IX]]\�LQIHUHQFH�V\VWHPV����
PHQJDQDOLVD� GDQ� PHQJHWDKXL� XQMXN�NHUMD� $1),6� VHEDJDL� SHUDQJNDW� OXQDN� \DQJ�

PHQJJXQDNDQ� WRROER[�0DWODE� XQWXN� SURVHV� SHQJHQDODQ� SROD� NDWD�PHODOXL� VSHNWUXP�

NDWD��VHKLQJJD�GDSDW�PHQJHQDOL�XFDSDQ�NDWD�GDUL�RUDQJ�SHURUDQJ��\DQJ�GLVLPXODVLNDQ�

GDODP��EHQWXN�DEVHQVL��0DXOLG\D�6�,���������

E� 7H[W� WR� YRLFH� ZLWK� DQJU\� FRQGLWLRQ�� SHQHOLWLDQ� LQL� PHPEDKDV� WH[W� WR� YRLFH� SDGD�
NRPSXWHU��GHQJDQ�SHQDPEDKDQ�HPRVL�PDUDK�SDGD�NHOXDUDQ�VXDUD�EDKDVD�OLVDQ�GDODP�

VHWLDS� VXNX� NDWD�� QDPXQ� NXUDQJQ\D� SHQHOLWLDQ� SDGD� EDKDVD� XQWXN� WUDQVNULSVL� WHNV�

GDODP� EDKDVD� ,QGRQHVLD� GHQJDQ� PHPSHUWLPEDQJNDQ� IRQRORJL� EDKDVD� ,QGRQHVLD��

PHPRWLYDVL� XQWXN� PHPEXDW� WHNV� EDKDVD� ,QGRQHVLD� XQWXN� NRQWHNV� \DQJ� VHULQJ�

GLJXQDNDQ�� ROHK� NDUHQD� XQWXN� PHODNXNDQ� SHQHOLWLDQ� EDKDVD� ,QGRQHVLD�� WHNV� \DQJ�

VHULQJ�GLJXQDNDQ�GDODP�WUDQVNULS�SHUFDNDSDQ�VHKDUL�KDUL�VHSHUWL�H�PDLO�DWDX�FKDWWLQJ�

PHODOXL� LQWHUQHW� DWDX� OD\DQDQ� SHVDQ� WHNV� WHOHSRQ�� GDQ� NKXVXVQ\D� SDGD� URERW� ELFDUD�

�$ODPV\DK�5���������

F� �8WRPR� %�$��� GNN�� ������ PHQHOLWL� WHQWDQJ� DQDOLVLV� NDUDNWHULVWLN� VXDUD� PDQXVLD�
EHUGDVDUNDQ� IUHNXHQVL� IXQGDPHQWDO� GDQ� WLQJNDW� XVLD� SDGD� SHODMDU� 6/73� GDQ� 6/7$��

SHQHOLWLDQ� LQL� PHPEDKDV� WHQWDQJ� SHQJDPELODQ� GDWD� UHNDPDQ� VXDUD� GLJLWDO� GHQJDQ�

PHQJDPELO�RE\HN�SHODMDU�6/73�GDQ�6/7$�EHUXVLD����KLQJJD����WDKXQ��7LDS�WLQJNDW�

XVLD� GLDPELO� VHEDQ\DN� �� UHVSRQGHQ� ODNL�ODNL� GDQ� �� UHVSRQGHQ� SHUHPSXDQ�� WLDS�

UHVSRQGHQ�PHPEHULNDQ�VHEDQ\DN����VDPSHO�GHQJDQ�NDWD� WHUXFDS�³NDPX´��)UHNXHQVL�

IXQGDPHQWDO� GLGDSDWNDQ� GHQJDQ� PHQJJXQDNDQ� PHWRGH� FHSVWUXP� GDQ� DXWRNRUHODVL�

\DQJ� WHODK� WHULQWHJUDVL� GL� GDODP� VRIWZDUH� &2/($�� 7LDS� WLQJNDW� XVLD� GLODNXNDQ�

SHQGXJDDQ� LQWHUYDO� UDWD�UDWD� I�� VHEDJDL� SDUDPHWHU� SRSXODVLQ\D� VHUWD� GLODNXNDQ� XML�

KLSRWHVLV�EHGD�GXD�UDWD�UDWD�XQWXN�GLNHWDKXL�NHVDPDDQ�DQWDU�SDUDPHWHU�UDWD�UDWD�I��WLDS�

WLQJNDW�XVLD��+XEXQJDQ�DQWDUD�I��GDQ�XVLD�GLGDSDWNDQ�PHQJJXQDNDQ�DQDOLVLV�UHJUHVL��
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��� .DMLDQ�Voice Record�:75����

9RLFH�UHFRUG�PHUXSDNDQ�PRGXO�UDQJNDLDQ�WHULQWHJUDVL�XQWXN�PHUHNDP�VXDUD�VHQGLUL�

DWDX�SXQ�VXDUD�GDUL�ILOH�PXVLN���YLGHR�SDGD�NRPSXWHU�GHQJDQ�VDQJDW�PXGDK�VHNDOL��0RGXO�

SHUHNDPDQ� VXDUD� :75���� \DQJ� QDPSDN� SDGD� *DPEDU� �� DGDODK� PRGXO� \DQJ� ELVD�

PHUHNDP� VXDUD� VHQGLUL� GDQ� ODQJVXQJ� GL� VLPSDQ� NHGDODP� IRUPDW� DXGLR�� )RUPDW� DXGLR�

\DQJ�GLVHGLDNDQ�ROHK�PRGXO�YRLFH�UHFRUG�DGDODK�IRUPDW�PS��GDQ�ZDY��

D� )LOH� IRUPDW�� ELW� 0$�$3&0�:$9� GHQJDQ� DNLUDQ� ³:$9´� VHUWD� ILOH� $'��� GHQJDQ�

DNKLUDQ�³$'�´��

E� 1DPD�ILOH�KDUXV���GLJLW�GDQ�QDPD�ILOH�VXDUD�GLPXODL�GDUL�������
F� 3HQ\LPSDQDQ�ILOH�GLVLPSDQ�SDGD�URRW�GLUHNWRUL�NXUDQJ�GDUL�����ILOH��
G� $QWDUPXND�,�&�PHQJJXQDNDQ�OHYHO�WHJDQJDQ�����±���9ROW��

�

�
*DPEDU����0RGXO�SHUHNDPDQ�VXDUD�:75����

�

�

�� 0(72'(�3(1(/,7,$1�

3DGD� *DPEDU� ��� GLSHUOLKDWNDQ� EHQWXN� SHUHNDP� GDWD� VHFDUD� XWXK� GHQJDQ� WHPSDW�

SHOLQGXQJ�GDQ�VLVWHP�HOHNWURQLN�GL�GDODPQ\D��6LVWHP�HOHNWURQLN�WHUMDJD�GL�GDODP�DNULOLN�

\DQJ� WLGDN�PHPSHQJDUXKL�NLQHUMD�SHQHULPD� VLQ\DO�*36�GDQ�PRGHP�*60��'HVDLQ�ER[�

DNULOLN� MXJD�GLGHVDLQ�DJDU�PXGDK�GDODP�SHQJRSHUDVLDQ�GDQ�SHQJJDQWLDQ� VLPFDUG�*60��

%DWHUDL� /L�LRQ� ���PD+� VHEDJDL� EDFNXS� WHJDQJDQ� \DQJ� NHGXD� NHWLND�$&&8� �WHJDQJDQ�

XWDPD�� WLGDN�GLSDVDQJ��3HQJLVLDQ�XODQJ�EDWHUDL� VHFDUD�RWRPDWLV� �DXWRFKDUJLQJ���%DFNXS�

EDWHUDL� LQL� MXJD� VHEDJDL� DODUP� ZDUQLQJ� �SHULQJDWDQ�� NHWLND� $&&8� �WHJDQJDQ� XWDPD��

GLOHSDV���

'HVDLQ� UDQJNDLDQ� 3&%� OD\RXW� GDQ� WHPSDW� NRWDN� �ER[�� \DQJ� GLEXDW� DJDU� PXGDK�

GDODP�SHUEDLNDQ�PDXSXQ�SHQJRSHUDVLDQ��3HOHWDNDQ�GHQJDQ�PHQJJXQDNDQ�NRQVHS�EHQWXN�

WXPSXNDQ� �VWDFNLQJ�� SDGD� PRGXO� UDQJNDLDQVHKLQJJDOHELK� VHGHUKDQD� GDQ� PXGDK� XQWXN�

SHUDNLWDQ� VLVWHP� SHUHNDP� VXDUD�� XQLW� NHQGDOL�� PRGXO� *60� GDQ� PRGXO� *36�� 'HQJDQ�

PHWRGH�VWDFNLQJ�DNDQ�PHPEXDW�GLPHQVL�ELVD�OHELK�UDPSLQJ��

�

�
*DPEDU����7DWD�OHWDN�UDQJNDLDQ�HOHNWURQLN�GDQ�box�

�

3HQJXMLDQ�SHUHNDPDQ�VXDUD�GLODNXNDQ�GHQJDQ�PHQJXPSXONDQ���FRQWRK�VXDUD�\DQJ�

GLVLPSDQ� SDGD� PRGXO� SHUHNDP� VXDUD� :75���� GHQJDQ� NDSDVLWDV� 6'� &DUG� ���0E��

WHSDWQ\D�GL� UXDQJ�PDVLQLV�GHQJDQ�GXUDVL� ��� MDP��3HQJXMLDQ� LQL�GLODNXNDQ�NHWLND�NHUHWD�
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DSL�VHGDQJ�GDODP�SHUMDODQDQ�GHQJDQ�PHQJXMLNDQ�XFDSDNDQ�NDWD�\DQJ�VDPD��WHWDSL�GHQJDQ�

MDUDN� \DQJ� EHUEHGD�� � +DVLO� SHQJXMLDQ� \DQJ� GLODNXNDQ� GLGDSDWNDQ� WHNDQDQ� VXDUD� \DQJ�

VHPDNLQ� NHFLO�� KDO� LQL� PHPEXNWLNDQ� EDKZD� QLODL� MDUDN� �PHWHU�� SDGD� VXPEHU� VXDUD�

EHUEDQGLQJ�WHUEDOLN�GHQJDQ�QLODL�WHNDQDQ�VXDUD��

�

�� +$6,/�'$1�3(0%$+$6$1�

+DVLO� SHQ\LPSDQDQ� UHNDPDQ� VXDUD� SDGD� PHGLD� 6'� &DUG� GDSDW� GLEXND�

PHQJJXQDNDQ� VRIWZDUH� VRXQG� HGLWRU�� GLGDODP� VRIWZDUH� LQL� VXGDK� WHUGDSDW� DQDOLVLV�

IUHNXHQVL�GDQ�NXDOLWDV�WHNDQDQ�VXDUD��G%���-LND�GXUDVL�VLPSDQ�6'�&DUG� \DQJ�EHUXNXUDQ�

���0E\WH�DGDODK���MDP��PDND�HVWLPDVL�GXUDVL�VLPSDQ�6'�&DUG�\DQJ�EHUXNXUDQ�����0E�

GDSDW�PHQ\LPSDQ�KLQJJD���KDUL���MDP��

�

6L]H� -DP�

��0E� �MDP�

���0E� 7�

�

� � � � 7 �
956ë6

76
� ����MDP� ���KDUL���MDP��

+XEXQJDQ�DQWDUD�YDULDEHO�SDGD�VXDWX�GDWD�\DQJ�WHUGLUL�DWDV�GXD�DWDX�OHELK�YDULDEHO�

GDSDW� GLSHODMDUL� GHQJDQ� DQDOLVLV� UHJUHVL�� +XEXQJDQ� \DQJ� GLGDSDW� GLQ\DWDNDQ� GDODP�

EHQWXN� PDWHPDWLN� \DQJ� PHQ\DWDNDQ� KXEXQJDQ� IXQJVLRQDO� DQWDUD� YDULDEHO�YDULDEHOQ\D��

$GD�GXD�MHQLV�YDULDEHO�GDODP�DQDOLVLV�UHJUHVL��\DLWX�YDULDEHO�EHEDV�DWDX�YDULDEHO�SUHGLNWRU�

GDQ� YDULDEHO� WDN� EHEDV� DWDX� YDULDEHO� UHVSRQ�� 5HJUHVL� GHQJDQ� ;� PHUXSDNDQ� YDULDEHO�

EHEDVQ\D� GDQ� <� VHEDJDL� YDULDEHO� WDN� EHEDVQ\D� GLQDPDNDQ� UHJUHVL� <� DWDV� ;�� GLWXOLV�

VHEDJDL� <�  � D� �� E;�� 3HUVDPDDQ� UHJUHVL� DWDV� KDVLO� SHQJDPDWDQ� \DQJ� GLGDSDW� GDSDW�

GLODNXNDQ� GHQJDQ� PHWRGH� WDQJDQ� EHEDV� GDQ� PHWRGH� NXDGUDW� WHUNHFLO�� 0HWRGH� WDQJDQ�

EHEDV� PHUXSDNDQ� PHWRGH� NLUD�NLUD� PHQJJXQDNDQ� GLDJUDP� SHQFDU� EHUGDVDUNDQ� KDVLO�

SHQJDPDWDQ�� VXPEX� WHJDN� XQWXN� YDULDEHO� WDN� EHEDV� VHGDQJNDQ� VXPEX� GDWDU� DGDODK�

YDULDEHO� EHEDV�� %HQWXN� UHJUHVL� GDSDW� GLWHQWXNDQ� GHQJDQ�PHPSHUKDWLNDQ� OHWDN� WLWLN�WLWLN�

GDODP� GLDJUDP�� -LND� OHWDN� WLWLN�WLWLN� WHUVHEXW� EHUDGD� GL� VHNLWDU� JDULV� OXUXV�PDND� FXNXS�

EHUDODVDQ� XQWXN� PHQGXJD� VHEDJDL� UHJUHVL� OLQLHU�� -LND� OHWDN� WLWLN�WLWLN� GLVHNLWDU� JDULV�

OHQJNXQJ�PDND� GLNDWDNDQ� VHEDJDL� UHJUHVL� RQOLQLHU��0HWRGH� NXDGUDW� WHUNHFLO� EHUSDQJNDO�

SDGD�NHQ\DWDDQ�EDKZD�MXPODK�SDQJNDW�GXD��NXDGUDW��GDUL� MDUDN�DQWDUD� WLWLN�WLWLN�GHQJDQ�

JDULV� UHJUHVL� \DQJ� GLFDUL� KDUXV� VHNHFLO� PXQJNLQ�� 'DODP� SHQJXMLDQ� SHQHOLWLDQ� LQL�

GLJXQDNDQ�DQDOLVLV�UHJUHVL�PHQJJXQDNDQ�PHWRGH�NXDGUDW�WHUNHFLO���

3HUHNDPDQ� VXDUD� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� SURVHV� SHUFDNDSDQ� GL� GDODP�

NHUHWD�\DQJ�GLVLPSDQ�SDGD�6'�&DUG����0E��WHSDWQ\D�GL�UXDQJ�PDVLQLV�GHQJDQ�GXUDVL����

MDP��7DEHO���DGDODK�KDVLO�GDUL�SHQJXMLDQ�SHQ\LPSDQ�WLQJNDW�WHNDQDQ�VXDUD�WHUKDGDS�MDUDN�

VXPEHU� VXDUD� GL� GDODP�NHUHWD��'HQJDQ�PHQJJXQDNDQ� IUHTXHQF\� DQDO\VLV�\DQJ� WHUGDSDW�

VRIWZDUHVRXQG�HGLWRU�GLGDSDW�QLODL�G%��WLQJNDW�WHNHQDQ�VXDUD��\DQJ�GLVLPSDQ�SDGD�PHGLD�

6'�&DUG���

�

7DEHO�����.XDOLWDV�KDVLO�SHUHNDPDQ�VXDUD�

�

R1� UP-PXV�ND UD -V

VXDUD��PHWHU��

3HQHNDQDQ�

6XDUD�G%��

6DPSOLQJ�

)UHNXHQVL�

�� ���� ��� �����

�V �V ���� ����

�� ���� ���� ����

�
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+DVLO�SHQJXMLDQ�SDGD�WDEHO���GLGDSDWNDQ�SHUVDPDDQ�UHJUHVL�OLQLHU�VHEDJDL�EHULNXW���\�

 �������[�±�����GDQ�5ð� ������� GDQ� *DPEDU� �� PHQXQMXNNDQ� JUDILN� SHQGHNDWDQ� OLQLHU�

DQWDUD�VXPEHU�VXDUD�GDQ�SHQHULPD��

�

�
*DPEDU����3HQGHNDWDQ�OLQLHU�DQWDUD�VXPEHU�VXDUD�GDQ�SHQHULPD��:75�����

�

3HQJXMLDQ� WHUKDGDS� PRGXO� SHUHNDP� GHQJDQ� FDUD� PHQJXFDSNDQ� NDWD� ³6$<$´�

GHQJDQ�MDUDN�\DQJ�EHUEHGD�GDUL�DODW�SHPDQWDX��+DVLO�SHQJXMLDQ�GLGDSDWNDQ�KDVLO�SHQHNDQ�

VXDUD��G%��GDQ�IUHNXHVL�VDPSHO��+]��\DQJ�EHUEHGD��3HUHNDPDQ�VXDUD�\DQJ�GLVLPSDQ�SDGD�

6'�&DUG�QDQWLQ\D�DNDQ�EHU�HNVWHQVL��
�:DY���

�

�
*DPEDU����3HUHNDPDQ�VXDUD�SDGD�NHUHWD�$SL�

�

+DVLO�GDUL�SHUHNDPDQ�VXDUD�LQL�GDSDW�GLSXWDU�GDQ�GLDQDOLVD�PHQJJXQDNDQ�VRIWZDUH�

SRZHU� VRXQG� HGLWRU�� \DLWX� VRIWZDUH� \DQJ� WHUVHGLD� VHFDUD� JUDWLV� \DQJ� PHQ\HGLDNDQ�

IDVLOLWDV�SROD�SHQJXNXUDQ�IUHNXHQVL�GDQ�WHNDQDQ�EXQ\L��VHUWD�SHQJXUDQJDQ�ELVVLQJ��QRLVH���

VHSHUWL�SDGD�*DPEDU����
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'DUL�KDVLO�SHQHOLWLDQ�GDQ�SHPEDKDVDQ�GDSDW�GLVLPSXONDQ�EDKZD���

D� 6XDUD�SDGD�:75����\DQJ�WHUVLPSDQ�SDGD�6'�&DUG�PHPLOLNL�ILOH�IRUPDW�³
�ZDY´�DWDX�

³$'�´���

E� 3HUHNDPDQ�VXDUD�GDSDW�WHUVLPSDQ�VHODPD���KDUL���MDP��
F� $QDOLVLV�UHJUHVL�XQWXN�SHUXEDKDQ�QLODL�WHNDQDQ�VXDUD��G%��WHUKDGDS�MDUDN�VXPEHU�VXDUD�

�VRXUFH�YRLFH���PHPLOLNL�SHUVDPDDQ��\� �������[�±�����GDQ�5ð� ��������

G� *UDILN� UHJUHVL� PHQXQMXNNDQ� DGDQ\D� SHQXUXQDQ� EHVDUQ\D� G%� VHLULQJ� EHUWDPEDKQ\D�
MDUDN�VXPEHU�VXDUD�\DQJ�GLWHULPD���

�

�� 8&$3$1�7(5,0$�.$6,+��

8FDSDQ�WHULPD�NDVLK�NDPL�VDPSDLNDQ�NHSDGD�.RSHUWLV�ZLOD\DK�9�',<�.HPHQWULDQ�

3HQGLGLNDQ�GDQ�.HEXGD\DDQ�\DQJ�WHODK�PHQGDQDL�NHJLDWDQ�SHQHOLWLDQ�LQL�VHVXDL�GHQJDQ�

6XUDW�3HUMDQMLDQ�3HODNVDQD�+LEDK�3HQHOLWLDQ�1RPRU�������.��.0�������7DQJJDO���0HL�

������PHODOXL�GDQD�3HQHOLWLDQ�+LEDK�%HUVDLQJ���

�

�

'$)7$5�3867$.$��

�

>�@��$U\R�%DVNRUR�8WRPR�:DK\XGL��$FKPDG�+LGD\DWQR�� ������$QDOLVLV�.DUDNWHULVWLN� 6XDUD�

0DQXVLD�%HUGDVDUNDQ�)UHNXHQVL�)XQGDPHQWDO�'DQ�7LQJNDW�8VLD�3DGD�3HODMDU�6/73�GDQ�

60$�)DNXOWDV�7HNQLN�81',3��6HPDUDQJ��

>�@�*ROG�%��DQG1�0RUJDQ�� ������ 6SHHFKDQG$XGLR�

6LJQDO3URFHVVLQJ�3URFHVVLQJDQG3HUFHSWLRQ�RI�6SHHFKDQG�0XVLF�-RKQ�:LOH\�	�6RQV��,QF���

1HZ�<RUN��

>�@�5REL�$ODPV\DK��������7H[W�7R�9RLFH�:LWK�$QJU\�&RQGLWLRQ��)DNXOWDV�7HNQLN�8QLYHUVLWDV�

,QGRQHVLD��'HSRN��

>�@�6LWL� ,PV\DZDWL� 0DXOLG\D�� 6�7��� 0�.RP�� ������ 3HQJHQDODQ� 3ROD� .DWD� 'HQJDQ�0HWRGH�

$QILV� �$GDSWLYH� 1HXUR�)X]]\� ,QIHUHQFH� 6\VWHPV��� -XUXVDQ� 7HNQLN� ,QIRUPDWLND�� ,67�

$.35,1'��<RJ\DNDUWD��
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